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Ὣ
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Ὣ ϼ
- EE Times Japan

( http://eetimes.jp/ )

- Business Journal
( http://biz - journal.jp/ )
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http://eetimes.jp/
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Ҳ (EE Times Japan )

ֺ
(Business Journal )
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ʝ ̸ ⱪ

Ἤ ̓ ό ẉ

͈1 Ι ̓ ỵ ⃰
ỵά⁪Ι46.3̊ʣ ⃰

http://biz - journal.jp/2013/11/post_3470.html

͈2 Ι ̓ ỵ ˔
Ủ ỵ ֯ ר 65%
http://biz - journal.jp/2013/10/post_3092.html

͈3 Ι ̓ ˲֥ ˔
70₴♥ ˲֥ ӭѝ

http://biz - journal.jp/2013/10/post_3019.html

ʝꜘ Ι 6

http://biz-journal.jp/2013/11/post_3470.html
http://biz-journal.jp/2013/10/post_3092.html
http://biz-journal.jp/2013/10/post_3019.html
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͈1 ₡ ̓ ˲֥
ὑ ѝ

http://eetimes.jp/ee/articles/1206/11/news001.html

͈2 ᶮ ̸ Ҙ
ї ד Ι ˍ

http://eetimes.jp/ee/articles/1407/17/news015.html

͈3 רʝֿר ὡ ˲֥
Ι ʝ˲

http://biz - journal.jp/2014/08/post_5706_6.html
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http://eetimes.jp/ee/articles/1407/17/news015.html
http://biz-journal.jp/2014/08/post_5706_6.html


͈1 NHK
1700 ˲

͈2 ҵ ᾯ ᶮһ
ʞᾁ

9



(1)Ḩ

(2) ʣ ᷀ Ι
(3)BAYONET ֩ ї

► Ι ѝ

10



̸ !

̸ ẎẀ

ӓ ̸
̸

ᾜἧӓ/1 Ϥ˲

11

ὤ



̸ !

̸ ẎẀ

ӓ ̸
̲

12

(2)

(3)

(1)

(a) ї

Ẁ Ẁ

Ẁ A

Ẁ

Ẁ Z 

A B ZC G

Ŭ1 9.9%

Ŭ2 29.3%

Ŭ6 11.6%

ɓ1 35.4%

ɓ2 34.0%

ɓ6 5.1%

ɔ1 14.3%

ɔ2 18.4%

ɔ6 12.6%

Ŭ ɓ ɔ

A

0: 1

Ŭ1 ɓ1 ɔ1 0.75 0.25

Ŭ1 ɓ1 ɔ2 0.66 0.34

Ŭ1 ɓ1 ɔ3 0.40 0.60

(a)

(b)ἶ ˓ ͪ
( ҈ ֻ )

(b) Ιӓ
֝

(a) זּ Ώ

(b)
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1
(D1)

2
(D2)

(T1)

D1 P(D1)

0 0.999

1 0.001

D2 P(D2)

0 0.998

1 0.002

D1 D2
P(T1 {D1,D2)

0 1

0 0 0.999 0.001

0 1 0.710 0.290

1 0 0.060 0.940

1 1 0.050 0.950

ᵂ1 ₡ ḹֻ D1
ї

Ι P(T1=1 | D1=1) = P(T1=1, D1=1) 
/ P(T1=1)
P(T1=1, D1=1) = P(T1=1 | D1=1, D2=1) 
P(D1=1) P(D2=1) + P(T1=1 | D1=1, D2=0) 
P(D1=1) P(D2=0)= 0.950 x 0.001 x 0.002 + 
0.940 x 0.001 x 0.998 = 0.00094
P(T1=1)  =    P(T1=1 | D1=0, D2=0) P(D1=0) 
P(D2=0) +  P(T1=1 | D1=0, D2=1) P(D1=0) 
P(D2=1) +  P(T1=1 | D1=1, D2=0) P(D1=1) 
P(D2=0) +  P(T1=1 | D1=1, D2=1) P(D1=1) 
P(D2=1)= 0.001 x 0.999 x 0.998 + 0.290 x 
0.999 x 0.002  +  0.940 x 0.001 x 0.998 + 
0.950 x 0.001 x 0.002  = 0.002516
̊ʣ
P(T1=1 | D1=1) = 0.00094 / 0.002516 = 
0.373543281  37% 
ї
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ᵂ ⱳ Ḹ

(1)ʝ 4%

(2) 50%

(3) 5%
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ᵂ Ἤ ὕ

10000 ˲

˲

10000 ˲ x    P( )
= 10000 ˲ x     4%      
= 400 ˲

400 ˲
(4%)

22



ᵂ Ἤ ὕ

10000 ˲

10000 ˲ x      P( )    x    P( | )
= 10000 ˲ x 4%        x      50% 
= 200 ˲

˲

200 ˲

23



ᵂ Ἤ ὕ

10000 ˲

10000 ˲ x P( ) x P( | )
= 10000 ˲ x      96%       x           5%
= 480 ˲

˲

480 ˲
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10000 ˲

680 ˲

˲

200 ˲ + 480 ˲
= 680 ˲
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10000 ˲

200 ˲ /680 ˲

= 29.4%

˲

( (ר
= 29.4 %
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10000 ˲
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ὑ

P( | ) =
P( ) x P( | ) 

P( A | X )
P( A ) P( X | A )

=
P( A ) P( X | A ) 

= 

P( A | X )  
P( X )

P( ) x P( | ) +P( ) x P( | )

P( A ) P( X | A )  +  P( A ) P( X | A )    

[ ὑ ]
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P( | ) =
P( )4% x P( | ) 50%

P( A | X )
P( A ) P( X | A )

=
P( A ) P( X | A ) 

= 

P( A | X )  
P( X )

P( ) x P( | ) +     P( ) x P( | )

P( A ) P( X | A )  +  P( A ) P( X | A )    

[ ὑ ]

ὑ ⸗ ד ї

4% 50% 96% 5%

200 ˲

200 ˲ 480 ˲

1ʠ˲ x

1ʠ˲ x 1ʠ˲ xx x
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BAYONET ̸ ( 2)

(CPT) Ҳ
ӽStep.3

CPT:Condition Probability Table

( ̏ )
( ̏ ) ( ̏ )



CPT ЊҘ ⱳ 36

BAYONET ̸ ( 3)

(CPT) Ι ЊҘStep.4

0.04

0.96

( ̏ )
( ̏ ) ( ̏ )

0.5

0.5

0.05

0.95

˗Ѽ ЊҘ ̏̂ ЊҘ

ֻ 1.00 ֻ 1.00 ֻ 1.00



BAYONET ̓ ( 1)

Step.1



BAYONET ̓ ( 2)

Ι (▌Ѱ )ЊҘ
Step.2

[Step.1] 
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רʝֿר ὡ(GID  )

2014 ₴6 11
Ћ5ᶥ ʴ

(1) GID
Ιӓ

רʝֿר(2) ὡ(GID)
ᶮК˲֥ ὑ

⁫

Кὦ
ѩẀר

₡ ᶩ
GID˲ ֥ ὑ

( Ẇ )
772

ỵ ї ᵂ
ї ֯ ר

(*) GID:Gender Identify Disorder

(*)
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